Effect

base class



Effect

processFrame(float& input, float& output);
setDryWet(float dryWet);
setBypass(bool bypass);



Effect
processFrame(float& input, float& output);

setDryWet(float dryWet);
setBypass(bool bypass);

!

ASubclass

applyEffect(float& input, float& output);
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derived from Effect
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Effect

processFrame(float& input, float& output);
setDryWet(float dryWet);
setBypass(bool bypass);

!

Delay

applyEffect(float& input, float& output);

float[] circBuffer;
int readH;

int writeH;

float feedback;
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// map range [-1, 1] to [0, bufferSize - 1]
float index = (inputValue + 1.0) * 2048;
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input e.g. value = 0.11

// map range [-1, 1] to [0, bufferSize - 1]

float index = (inputValue + 1.0) * 2048;

// interpolate! index lies in between 2 indices
int i = (int) index;

float indexDecimal = index - (float)i;

outputValue = linMap(indexDecimal, buffer[i], buffer[i + 1]);

Waveshaper - derived class
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float index = (inputValue + 1.0) * 2048;

// interpolate! index lies in between 2 indices

int i = (int) index;

float indexDecimal = index - (float)i;

outputValue = linMap(indexDecimal, buffer[i], buffer[i + 1]);
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Effect
processFrame(float& input, float& output);

setDryWet(float dryWet);
setBypass(bool bypass);

!

WaveShaper

applyEffect(float& input, float& output);

float[] buffer;
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derived from Delay
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